Block 3 Review ~ Understanding Fractions
Name__________________________________________      Period______      Date____________

1.   What is the greatest common factor of 28 and 42?
A.  4
B.  6
C.  7
D.  14
2.  Garrett had 72 MegaChoc Bars and 64 Caramel Melties.  He wanted to put the most possible candy bars into bags without mixing the two types.  Each bag needed an equal amount of candy.  How many candy bars did he put in each bag?
A.  6 candy bars
B.  7 candy bars
C.  8 candy bars
D.  9 candy bars
3.  What is the greatest common factor of 18 and 45?
A.  3
B.  6
C.  8
D.  9
4. Which fractions are equivalent to 
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5.  Which number makes the following set of fractions equivalent?
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A.  18
B.  24
C.  30
D.  36
6.  Larry said he had 
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 of his homework finished.  Which of the following fractions would also be true for Larry?
A.  
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For numbers 7a – 7d, circle YES or NO to indicate whether each fraction is written in simplest form.
7a.  
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7b.  
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7c.  
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7d.  
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8.  The height of one tulip measured 
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 foot long.  What is this measurement in simplest form?
A.  
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 foot
B.  
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 foot

C.  
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 foot 
D.  
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9.  What is 
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 written in simplest form? 
A.  
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For numbers 10a – 10d, circle YES or NO to indicate if the least common multiple of the two numbers given is 54.

[image: image83.wmf]4

3

1


[image: image84.wmf]2

1

1

10a.  6 and 9
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10b.  9 and 18

10c.  18 and 27

10d.  27 and 54

11.  What is the least common denominator of the fractions 
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A.  7

B.  28

C.  35

D.  42

12.  David reads with his children every 2 days.  His mother reads with David’s children every 5 days.  If they both read with David’s children today, how many days until they both read with the children on the same day again?

A.  5 days
B.  10 days
C.  12 days
D.  15 days

13.  Which symbol would replace the       to make the following statement true?
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A.  <
B.  >
C.  =
D. 
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For numbers 14a – 14d, use the information in the table below to determine whether each statement is TRUE or FALSE.

	Types of Cookies
	Amount on Plate

	Oatmeal Raisin Cookies
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	Chocolate Chip Cookies
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	Sugar Cookies
	
[image: image40.wmf]16

6



	Peanut Butter Cookies
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14a.  There are more oatmeal 

raisin cookies than peanut

butter cookies.

14b.  There are the same amount

          of chocolate chip cookies 

          as oatmeal raisin cookies.

14c.  There are less peanut butter
         cookies than sugar cookies.

14d.  There are the same amount

          of chocolate chip cookies 

          as peanut butter cookies.

15.  Kezia had a bag of gummy bears. 
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 of the gummy bears were yellow. 
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 of the gummy bears were red. 
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 of the gummy bears were green. Put the fractions in order from least to greatest.
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16.  What is 
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 as a mixed number?
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Rachel wanted to change mixed numbers to improper fractions. For numbers 17a – 17c, circle YES or NO to indicate whether the method she chose worked. 

17a.  For 
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, she multiplied 

         4 by 2, then added 5 to 
         get 
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17b.  For 
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, she added 

         7 and 2, then multiplied 
         by 3 to get 
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17c.  For 
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, she multiplied 
         5 by 4, then added 1 to 
         get 
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18.  Which list shows the mixed numbers below in order from least to greatest?
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19.  The height of a woman is 
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 feet tall.  What is this as a mixed number?
A.  
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B.  
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C.  
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20.  What is the length in inches of the following line?


A.  2 inches

B.  
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 inches

C.  
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D.  
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21.  Which measurements equal 
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 inches when rounded to the nearest quarter inch? Circle all that apply.
A.  
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B.  
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D.  
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E.  
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22.  Anna had a piece of pink ribbon that was 
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 inches long.  She had a piece of purple ribbon that was 
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 inches long.  She had a piece of yellow ribbon that was 
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 inches long.  She had a piece of red ribbon that was 
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 inches long.  Which color of ribbon was the longest?
A.  pink
B.  purple
C.  yellow

D.  red

Jarett measured each line and recorded the measurement on each line.  For numbers 23a – 23c, circle TRUE or FALSE to indicate the accuracy of his measurements.
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